OIZASHD AE(EM) 7Y 0IF (20184 23)-H A YRR B

st L

Py M T3t sun |zma Hong) | sz A
il FEEREER & ETOOTOTE ZHUI= N7 89T [or, 20164 102 16300 1 16,800
2 |100HE QI3 Y matA gAloH 21 2/848 9 Z2H 2018 059 18,000 1 18,000
3 #2332k 3Y 20E|E o AZ X/2X 8 17 k! 2017 058 14,000 1 14,000
4 why? oto] 2ol el =ST &0TSE TSI g ag 201744 062 11,000 1 11,000
5 [why? eto| 30 =2lgl =ST FTSE TS ST g g g 20174 062 11,000 1 11,000
6 |[B® 0jgiE RdsteH ATk Z2aY Q2w W QW0 & R&DE]BIA X W 0| & 201714 07 12,000 1 12,000
7 |B® ojE 2Ystet ATk TRy Mot W QI 0| & R&DE] & ] 21 Of| 20174 09 12,000 1 12,000
8 |F9M e gnalE EEE] shojciof 20151 109 15,000 1 15,000
9 [ xg s I HEH T SEIOTE A7SAE ST ) 20181 058 14,000 1 14,000
10 [zizl =9 ojopy| e e 201814 038 12,000 1 12,000
11 |25o| A384%| R 2y 20174 078 18,000 1 18,000
12 [2H 812 538 719E 2384 el ot 20174 03 16,000 1 16,000
13 [443 GO~ ATex| Z2aY Etolat 2 DigitalNew 20174 048 14,800 1 14,800
14 [z = swago ¢a 1 o|x|= X =] 201714 03 24,500 1 24,500
15 Mg oteEs 2K, 3g HHEA K SOpA|O} 201814 03 16,000 1 16,000
16 |~3zx| AE2 A9 BH steio|C|of 201414 039 16,000 1 16,000
17 |23 g2 FER stelojc|of 201414 119 18,000 1 18,000
18 |~32)%| FLO2 QL o XS Y iR EY 20161 082 14,000 1 14,000
19 |A3eyxjop Htetold SXt YEH Zojo| iy, 0ln/e 3K RS 20161 098 12,000 1 12,000
20 [~3eyxjop ntsto|g =Xt Z2NMEH 20jo], 28,0018 X EREE 20174 028 13,000 1 13,000
21 |MEsie, 29 3 o S o s booe aey [HEFU0 2018 033 11,000 1 11,000
22 |MEsie, 29 4 o S oreir ol b wole aby [NEFU0 [20184 033 11,000 1 11,000
23 [Mz5g MEAZE W Yoj2 Ay ohgE X/20) 180 2% [T~ |20184 058 12,000 1 12,000
24 [oto|Eat HsHe 2T 0| e ofo|2=tAl 20181 06 20,000 1 20,000
25 [9loHs 33ttt sSw RE @S0 #X| grey o =3 201511 062 15,000 1 15,000
26 2wt 2 napM [7|XH] O|Ef S 2@ Z,ol¢or 202 X [sorsm 201814 038 10,000 1 10,000
27 |xs3ect3g ofLtz,dEx 2/0/528 18 A2 gea) |201644 119 10,000 1 10,000
28 |x§ mAL Mol 3 g maty L3 2/84s 12 = 201814 04 15,000 1 15,000
29 |#EEatstoz s AEoH SE== e ETHEEAS Tyojoi 2z of 20171 078 13,500 1 13,500
30 |AdEEAY 2X| C7IA 2/4 94 17 ojAg3z|0} [20161 078 14,000 1 14,000
31 |ZYS 9 HEE A KA 2 S8 BH BN 20174 062 12,000 1 12,000
32 [z2o 419451 1074x] HAY ST E/ESEEE T 8% [avofaio]  [20164 061 14,000 1 14,000
33 |[Zz2aejYo| 2ol & ANK Co, Ltd. X/Z4E o goret 20174 039 16,000 1 16,000
34 [stmojA A3efX| SFA} OHX| S OpX| X/0|7+Y 9 cre 20174 012 23,000 1 23,000
35 |stuolM Ssts A3k Z2aaly EEREE RN RS 20154 048 18,000 1 18,000
36 |3t oz BUEs A3X| 27| X ofl £20| 201614 078 15,000 1 15,000
37 [g =+ Qlch A3g £ HAY H/REE Y ojcjofj# 201814 08¢ 16,800 1 16,800
38 [g=st =z oz xf sHao|C|of 20161 119 16,000 1 16,000
39 |g= = IO|Y £AH Bict 2|27k~ S/0IRIM Zyofglo]  |20161 068 18,000 1 18,000
40 [staEE wepty IHES ofs|s spaE 391 A glolato|E X/AHM of Zdiojglo]  [20174 128 10,000 1 10,000
41 0| 4xt MY Y 221t AZK| 5 o|5HS 2/0|&4 12 otz = 20184 028 10,000 1 10,000
42 |[of2lo|E g3t Xj(mER 1 28 H27,019Y X okt 201814 028 12,000 1 12,000
43 [22| oo] 443g 7|9 FE sete ST 447 /859 22 230| 20181 048 10,000 1 10,000
44 a2 npsixtol MAI|s x$0] /90| Jg/4%7 o [maoiziol [20181 05y 12,000 1 12,000
45 [zracz TSR SIS AT T Ty sojzio] [20184 04 12,000 1 12,000
46 [olg2l0|E @It msnt 2pEL, MY 715 0|0t /848 08 L 20174 078 12,000 1 12,000
47 |ojeis Qigt whEst AN, AA0I2E TSI AT TETE I E gy a 20184 022 12,000 1 12,000
48 |44 ojcjof ojof7| stz 2/9tMsE 28 ma 201614 062 11,000 1 11,000
49 [N chot Yotop g QIZ XSt 4% Atie ol o2y Hse A R 201814 058 13,000 1 13,000
50 [Mufol Mol Bl& 4% M YEY soAl 22 Jl2sjofalo]  [2018 033 10,000 1 10,000
51 [2019 £ Bt2 YY) 3] shRo 2 BT e e o e T Too181 028 15,000 1 15,000
52 |s= 7= 2 2493 2 = 201714 089 12,000 1 12,000
53 |S=£& QEX| gtof o|Me 2/019% 18 HES 201614 09 10,000 1 10,000
54 |==7t 22| @ol 0|8 3371X| Eo2I0|EMHT T NE 201314 089 12,000 1 12,000
55 |5z 2w DY HE BNk 201214 109 10,000 1 10,000
56 |E=7t 22| W 40 gl 1271%| 0| 28y 218 EECEN] 20184 048 12,000 1 12,000
57 |[5=8 RE3) HIAZ DDA BA M2 20114 118 13,900 1 13,900
58 [of2lojet HAHE QI3 S WakARH EOE EOTEE ST Jagya 20134 118 12,800 1 12,800
59 |Mzto| £oje E21 2ol X WEES 20184 019 12,000 1 12,000
60 [=2| B® =% atu 294s X R 201814 04 11,000 1 11,000
61 [oisaol i3t 25 A ST TSRS T ojrak 20184 03 16,500 1 16,500
62 |2 ALt Zotx| Lalx HrEdaly XM/SAH o |Xgoj2io| 20174 078 13,500 1 13,500
63 [gtotHiX|Qf L= Y=ol shgo| 2/4%s 12 719212 015) [20104 098 9,000 1 9,000
64 |8%o= xo|LiA 83}7| CREEZSEEE 7|95 2(015) (201144 08 9,000 1 9,000
65 [} SILIE 9 ofm? OlRIE F/ME a7 719182 0HE) |20014 128 9,000 1 9,000
66 [szxg totap Zk% 2/0134 08 71912 (0HE) |20131 118 9,000 1 9,000
67 |4 B2 WEEOE Qo slg 2/808 18 7195 2(018) (201414 042 9,000 1 9,000
68 |&5EDHD 50 o Hie? o8 /250 1y 7| 9152(0ks) [201414 05% 9,000 1 9,000
69 |27 47| yoja! 28y /480 18 7195 2(018) (201444 078 9,000 1 9,000
70 | 22 H o Zota! 20| 2/58% 18 7|91=2(0H5) |20154 018 9,000 1 9,000
71 |MAOIAM 7HE RlE eslg /202 18 719182 0H8) [20154 028 9,000 1 9,000
72 |ct $ o= ses 2453 23 71915 2(015) 20161 068 9,000 1 9,000
73 |thot A AtDpEAIR sZo| 2/4354 18 71912 A (0HS) [20161 078 9,000 1 9,000
74 |&xo| geE Zha5 /8%t 2 71915 2(015) [20161 08 9,000 1 9,000
75 |4t 3 ol oft 2@ /28 28 719182 0H8) |20164 108 9,000 1 9,000
76 |shEoh 4EOIS XA F MAL2 Z/0|7M & 7195 2(015) (20174 018 9,000 1 9,000
77 |2mol crarey ST SPOTOT= R7aME =S o 20074 062 9,000 1 9,000
78 U7t ojmiA 27 s ®/olge 27 AR 20064 058 9,800 1 9,800
79 |#20| HotB QXE LIFM R ol maae N/RHA Y [MAH 20061 108 9,800 1 9,800
80 |HEWOl HM & Lol M/gEF 38 AR 200614 038 8,800 1 8,800
81 [wMnsia ®oj3t 2,28 AR 2010 089 8,800 1 8,800
82 [izay ETT CIOTTE= ST TS A 20044 082 12,000 1 12,000
83 |ofth, LISHE| 20ig} H{LES ot 2/0|4A| 18, HEA 2015 108 11,000 1 11,000
84 [ol zte ms N o R T 2013 019 17,000 1 17,000
85 [M O|=X| X HEA 2017 078 15,000 1 15,000
86 |52 o|%x| & HEA 20044 0894 12,000 1 12,000
87 [Hgso= o|$x| 18 HEA 20094 128 15,000 1 15,000
88 |zt E2tE 2|7 FEE AR 20173 048 13,800 1 13,800
89 |mt=O0f =X 2|7H 0|4:X| X HEA 20095 058 11,000 1 11,000




90 [o}7] 712 88 2MA 2/=Mo] 23 AHAIR 20054 118 11,000 1 11,000
91 [cratz A8 T T P S AT Tsp=ora 20134 069 19,000 1 19,000
92 [=71 71271 A 49 OEXICE 9AFS X1/0| T o TESTOREN Toorou 129 17,000 1 17,000
93 |agol =7 T TR TS =TT = Tz prar 20064 018 30,000 1 30,000
94 |ztenf 7|27| 43 AT el ST AT A e S TOREEN o013 02 17,000 1 17,000
95 [mge nrusis Hze a3t ngcx 7127 20w 0jx0) X/0/x}3t S STOREN To01114 069 16,500 1 16,500
9 |22 mMiz g Y oA =SS R e e 20174 028 12,000 1 12,000
97 [&te 52 7127|263 olFIE /AL | SETSTOREN To010u 109 17,000 1 17,000
98 [xREH=E AtoZ 7|LT|d Hed N NEEEES 2011 019 13,000 1 13,000
99 |2 A mpM oS AT TN Twoimsi 2 [20154 04 14,000 1 14,000
100 [ghotgl, ASEA|! SELUEN TR T Tawel 20174 082 12,000 1 12,000
101 [~ PR MEECEo [2014 098 13,000 1 13,000
102 |=H! A HE 10| 7|27 o|2M oj/ofntm E 224 24 |xjojEA 201814 06 9,500 1 9,500
103 [EfQr4l 2to| =2 whorotat x £c ~0E Zaa/E4n o [SOE0S o014 03¢ 12,000 1 12,000
104 [£20] g2 2Z28 &OIM x £c o= 3ag/men o [0 T0S Joo1u 033 12,000 1 12,000
105 [=od Alst =1 eSS T EAS ez [20024 00g 12,000 1 12,000
106 [&m| 7|1= Jg|ae st ¢7| M 7| 2a8/AM3 o o2foloto| M & 20161 128 12,000 1 12,000
107 [gml 7|12 1 M 7L 2A/KH A S ojejioto| M2 [20174 118 12,000 1 12,000
108 |7tz 0l2t 2t i 20161 112 12,000 1 12,000
109 [gcte A SO WAL STSATIWE T Tz e 20131 028 10,000 1 10,000
110 |27 &5 42 F/xes 1Y ZA@HE) [20124 028 11,000 1 11,000
111 [ 0|2 TS STOTEE SIS T T ongmma) [2014 092 11,000 1 11,000
112 L AHAICHE 232 tolof =S ST EPTE EE T aagoi0p7) [20131 098 11,500 1 11,500
113 Jol&93t2 BieE S AXHYOf A%E BA/RYY 17 Jtgulofziol [201614 098 11,000 1 11,000
114 |33740] Z MH| ALRHEO{ol| & thE ! e /4% 1 HefLte 20164 018 11,000 1 11,000
115 |Lt2 =& Heg 218 B3 32 M [20164 028 16,800 1 16,800
116 JHEo0|g g 2/l 18 T} 2r R 24 201514 018 10,900 1 10,900
117 |39 gojLol Zxtg| Qitet S/4 4K 28 ofo| & 20154 028 10,000 1 10,000
118 [71g0izl & S SEESTHETE= TE8F Tojaio) ol [20164 108 11,000 1 11,000
119 [MAE B E A5t 39 0[opy| AR 2/0|xt 28 SoE 2016 019 12,000 1 12,000
120 |5 &, 50| 3t &o| 3 ANz Z/uenig 13 AL 2016 09% 12,000 1 12,000
121 |8, M2 8! SESE/OTET ITIET G [yaixmz 20141 019 10,900 1 10,900
122 |oj2lo] #ate, B7|TolAM FolE aiLict ol&y 2/48™ 18 AR 20164 118 12,000 1 12,000
123 il Ltzto] fioist A5 sl @ 2/z0/2 28 g@ojzlo] 2016 068 13,000 1 13,000
124 |o|sf2{o] &4 mutAM HE x{ojM 7| 100 sk 2/0[01% 18 oFEE2d 201614 078 13,000 1 13,000
125 [o|sf2fo| 44 mutAM T 100 AZ A 2/0|01% 22 otxEzod 201514 028 12,000 1 12,000
126 [OlE2 7h= Of0|& disis 2/708st 13 Arglof2lo| 201614 09 10,000 1 10,000
127 |25 B33 AMH 7|SEEMOIM /2 18 |ERxpe A 201614 038 13,900 1 13,900
128 [stmo| M HXS sha! C SN ST ETERIT TR Turonjgy 20121 058 9,000 1 9,000
129 |mzot, #7tE0| sl 2/gg 28 M8Kids 20164 088 10,000 1 10,000
130 |doiz oy SFLCHCERs|I2 2/492 o HALHE 20161 082 11,000 1 11,000
131 [25Hd o| AT X/0|R|S 12 Exink] 2005 118 8,000 1 8,000
132 [z 50| ofor & 22| & 1007}x| S lol e oo o n [ola=3z0r [20174 062 12,000 1 12,000
133 [=58140] 2o = S4] 10071K] B e == o g aajor 20174 098 12,000 1 12,000
134 [=SsH40] Qotof & 3 10074%| S o A STTEST Tojamaa)of 12,000 1 12,000
135 |42 Zjo|lojM 23 # EfX| = Kotd 477 2g 2 /347 a8 718 20174 062 11,000 1 11,000
136 |ge M7l 2|2 Qe Zefy 233 olE 251 201514 04 9,800 1 9,800
137 [oBAM HIZ MH= of2I0] 5 st 22 o2ty el 20174 102 12,000 1 12,000
138 |0|7} OfmtA| X|3tofl 7t st 2/848 18 gaglese [20134 118 6,500 1 6,500
139 |0 S WA 1 galm 2oy| hEE EEER SETTE Too1su 08 12,000 1 12,000
140 |Miats ZME 22| 2XP sis3t 2/401g 1 e 201313 038 11,000 1 11,000
141 [Lt= 33t 28 7 ofHay 219l0r 2/0|F3| 12 | 201614 038 7,500 1 7,500
142 [3hets gl Mgt o3| 2/gE7 12 HI g2 20181 03¢ 9,500 1 9,500
143 |87 30) 7t3 gw o 238 719122 (015) |201814 068 12,000 1 12,000
144 Phst A4 Lpotaic F2 2/018A Jg/stes 24 |Matehiojziol [20181 078 12,000 1 12,000
145 |O|H 2 E MF2 22 HEE stat =38 018 /848 1 A4t S| 201714 12¢ 12,000 1 12,000
146 |2/o BN HEZ M= of2l0] BT ohe 2,02 ohery 2018 07 12,000 1 12,000
147 |2topct 74 Al /8K 28 215 140j210] 201814 07 10,000 1 10,000
148 |otgo| w3y gzl 2/xoj 28 Z2Moj2lo] 2018 078 8,500 1 8,500
149 |=2fsHe ota) ME22 EX A of 201814 07 10,000 1 10,000
150 |otgiel 2 x| Ad 20702 2 stgglof2lo] 2018 088 13,000 1 13,000
151 |oj2l0|5 9/3t E& £X]| 0[0}7] ShatE 2/4ist 18 mopa 20184 088 12,000 1 12,000
152 [Af3tAS2 of BAIE saien e A SrE= T =W T8 Toiggojaiol [20164 0211 13,000 1 13,000
153 |27 @ oto|S S TR SO T T g zjojzlo] [20164 108 12,000 1 12,000
154 [is}7h Af2pEl L =X 0|2 Z/2t0|4t st2zioj2lo] [20184 08 15,000 1 15,000
155 [ots =222 AR ST ST TS Toiatojzio) [20164 08 12,000 1 12,000
156 [ots 22 3 T EMEESA AE Topgofaio] [20161 1121 12,000 1 12,000
157 o2 Zap fi P50 Hofshs SES oz 7§ 2ag/xes o grFELol  [20174 058 12,000 1 12,000
158 |[n¢o| &2 W= gLt Arjer 2/x 8| 13 S 7IFEL|Of 2017 05¥ 12,000 1 12,000
159 |oj= & ol 2/75¢ 12 SEELof 2017 119 13,000 1 13,000
160 |ore =4 ex 218 xFELof 201714 119 12,000 1 12,000
161 |22 st4d 208 S xIZEL|of 201814 062 13,500 1 13,500
162 [Lfo| &2 mAMzt TS TS TSI ST e nimgof 2018 062 19,500 1 19,500
163 |20} of oF of nEz 223 SEFEL o 2018 078 13,000 1 13,000
164 [wef= XA stME /018 22 S7FEof 20184 07 9,500 1 9,500
165 [7t& st ofo| Lhabs Z/eSe) 1Y CmEAzL]of [201814 08 11,000 1 11,000
166 [MAolM MY MRUE SOIFY| o|E X EECE] 201814 089 14,000 1 14,000
167 |of 2313 O =|Lia? el 2/8TH 13 K=of2lo| 201114 119 12,000 1 12,000
168 |of #Abs0| REE T oF FLtR? sy3 Z/E0F 2 srsofzio] 20141 078 12,000 1 12,000
169 [off SHpA|7|H oF g|LtR? ety 2/4=e 28 &E0i2lo| 201214 109 12,000 1 12,000
170 |of 24Ho| 2 H&H OF |LtR? dieel 2/2X9 28 EEofzlol 201314 062 12,000 1 12,000
171 |of Zj&r8 OF StE OF g|Lte? a8t 2/0|47 28 r=02l0| 201314 098 12,000 1 12,000
172 |of £ |5t of gjLta? GRS ST TETENE T Tasopzi0)  [o0121 04 12,000 1 12,000
173 |9} 518 M|Cj2 B2 W oF g[LtQ? ojo|z] 2/9%2 12 A=0{210| 201414 062 12,000 1 12,000
174 |of A|Z+S GH|stE oF 5lLt? ORI ETSWE THEWE S Tysopzio] 20134 019 12,000 1 12,000
175 |of 7|8} of &|LtR? X&) 2/923 18 Eof2lo| 201414 062 12,000 1 12,000
176 [of g of7|B oF g|Lte? ZX|& 2/0|71Q 12 A= 0{210] 20141 058 12,000 1 12,000
177 |Zoix|z2 gst < XY 2/ 07 AEEL O] 201414 04 9,000 1 9,000
178 |92l stmof Al2jot &7 gLch e W ST 3 ot 20164 118 10,000 1 10,000
179 [+ sl0j=2 22| oftt Qx| 2219 13 = TTETE= Too1e 112 12,000 1 12,000
180 [xIZ cigrol et e 201644 09% 10,000 1 10,000
181 [gtotHX| ot HuH 51 A3= 2 CE2|x 2016 089 13,000 1 13,000
182 |22 dor 22+ SIS ETESE TSN e eag 20174 089 13,000 1 13,000




183 ey gy, stz oj2ct O EraeT TATSA T Tozxijo;  [20161 029 10,000 1 10,000
184 |oj2| Haay, &2 HSa? OtEjotA ZEFH 2,08/0/8H o ga 2008 082 8,500 1 8,500
185 [A|zte ofcjof 41 92t Setr|o|2 AE|L X/QEA o |2 e A 200214 078 7,000 1 7,000
186 |Zfx|3t Lh= Lt CTEF =ET S/ AT EOTE T | 0 2 201314 098 11,000 1 11,000
AR g L Fri et 247 | 099 ) .
187 |mot Hetat 2 1 soj= of J1of 27 Sy el ETET I FOVETr 3,800 1 8,300
188 |ome o 22 22 2tR? P STITA= TISHOT TS T LojRek  [20184 028 12,000 1 12,000
189 |x|97) & ==20| =g 2/0tg0 28 | 2018 03¢ 10,000 1 10,000
190 [eiop= off 5ot Wit - 20] 2/07|8 9 0| C]Of &HH| 20183 048 12,000 1 12,000
191 |20l AR 2/23E 08 AP 201514 119 11,000 1 11,000
192 |x|274 ML 222 HrehZIGE) |20184 042 15,000 1 15,000
193 |oj&tst 7|kt storg 218 Enl 201814 048 12,000 1 12,000
194 |5.18 QIFs} 25 565 2xzd s2 5187| gyt [20174 028 8,000 1 8,000
195 |9f 518 2IFS} 250| YO H27}? UEERS Aenes 201314 019 11,000 1 11,000
196 |Pratsialnt A A 43S S/HMdg 28 ER 20174 07 12,000 1 12,000
197 Ja10 51y EAS STER0 TETTEEE soapeiel 20104 28 10,000 1 10,000
198 |4.19 =g Jpito MEA 2 AR/ZES 28 a8 |ojaIgo) 20091 049 9,000 1 9,000
199 [4198{gat 140 A7) o|T§ Y X X Alnpzia# 20174 038 15,000 1 15,000
200 |of 4.19 3 go| LojHS7}? gte st x/0|tn 12 Aene s 201214 128 11,000 1 11,000
201 [#Ho e & o DTTSTWE TROTOT= TEAT T jojruk [20174 05 12,000 1 12,000
202 [mor iz A ot S7ETT= O TS SE o017 os5@ 13,000 1 13,000
203 (a2 A o otal FEl Z2ol3 x/FHR ANZFLol 19994 1% 9,500 1 9,500
204 |mof £ mato| 0] 248 2,3/01HY o HIE 2 200114 109 9,500 1 9,500
205 M Z= 0] 278 22/UEH o Al2ZL|Of 19994 128 10,000 1 10,000
206 |E2i22 =0 2748 23/ 0|HY o HEA 2012 098 12,000 1 12,000
207 2%t =0 A2l 2a8/8"0 9 AEFUol [2002i4 038 9,500 1 9,500
208 |7iet n2tolo| g2 =aia =0 272 2,18/ o HIE2 200414 098 9,500 1 9,500
209 |2 Argt 20| 278 23Y/AWs o HIEA 199644 018 9,500 1 9,500
210 [X|at oA EAE MM 22| AEt0|1 2,a8/x24 ofuEA 19954 118 11,000 1 11,000
211 |[=& 2ol & 22 202|Q AEto|1 222/2740| % [HEA 2018 059 11,000 1 11,000
212 |3 212|Q AEt0|T ®/E24 o HE4 20015 068 9,000 1 9,000
Oi Xl B4 C| 2| AEO|T = O2l/xoA o lHEA ERE]
213 [ 7wy 22| AEf0|1 2,12/x24 9[ulEx 200014 109 10,000 1 10,000
214 xl== £ + gl= 22l gs o8 B2 SUT FTIE ITTST T Tyoppg 20174 118 11,000 1 11,000
215 [&e A, ojjof ANF /203 18 rRToTe Ta017 04 12,000 1 12,000
216 |oizior ZatEat B xg8l 2/x47 18 FLoZEA |20174 068 9,800 1 9,800
217 |MIAOIA 7HE S E of#ix}, Hal stgA /423 18 A E 2017 07¢ 12,000 1 12,000
218 |R2| Zo| BtA| S 2 20184 019 14,000 1 12,000
219 |10cHot E3t= 34| o|of7| ST A EEcek] 201814 06 13,000 1 13,000
220 Jstsof o 77| =915 2/9018 18 SIS To01814 069 10,500 1 10,500
=0 F= CES o 13, -
221 |® o} P = =" |xjgofglol 201814 03 12,500 1 12,500
222 |22l g X|F ofd 283 2/X8 13 nzig 201814 06 15,000 1 15,000
223 [ol # ofx| o o= S TS = = Blatojalo] 2017 092 13,000 1 13,000
224 |92 2 xtEsIX| OtM MM 2/ a8 AL 20174 078 11,500 1 11,500
225 oI of A AS 0 RSP Hey 2/0x 1 maotysl 20184 07 13,000 1 13,000
226 [Maph 7y 2oH X/0|$E U EERE] 20184 018 14,000 1 14,000
Zau=cf AT ZTZ7LHE = o
227 [MAPS N eyt o/l B 20174 068 29,000 1 29,000
P EETIEEC N ELER R ETT 20181 068 9,500 1 9,500
229 [ =27 o= o s 2/527 18 =AET ST o018 021 12,000 1 12,000
230 |XIS 0]7|F0o| LiH| sy =X 2/280 28 =% 20174 069 12,000 1 12,000
231 [olot stm Jpx} 07|17 2/ %%t 0|2} Qil0to| 4| & [20184 048 11,000 1 11,000
232 |oj2ixa & TEF AT IIEANE T [y oy 20181 052 10,800 1 10,800
233 |9l AZ0| 2X N2 2SS X gL 2018 02 13,000 1 13,000
234 |EMEM 222 F 225 AMsH: AHATY Pdz 2/4+4E 18 SA 20174 129 12,000 1 12,000
235 [Ra7t A BT 97| SES %3S /80 a8 ojzxujo]  [20184 068 13,000 1 13,000
236 |o{2I0|5 QI3t W= Malst ALOIE CHHA| /818 9 ~Zat 2017 09¢ 10,000 1 10,000
237 [etx7t Zop il f"LL?; =7 ri4%‘ ===atAl | 20124 042 12,000 1 12,000
238 [yztsts &g 712£ ofzio] et md j;izg;\}:jq sl FETET TR POTER e 11,000 1 11,000
239 [oi2io| olgt @4l L toin Ao oeraz |M2teldl 20184 062 13,000 1 13,000
240 |AJO4E =T AME EEEE s 20184 059 11,000 1 11,000
241 |MA Alst otEata HYs HY At 2018 07¢ 22,000 1 22,000
242 [HA SIS HHE T E OlOp| At 2/0149 18 Jh2blof2lo] 2017 119 11,500 1 11,500
243 |M4 ol Li siatc) T oT =TT EA T | A gy 20174 063 9,800 1 9,800
244 [M7zo| oAt = TR BT T asx 201844 078 19,000 1 19,000
245 HIEEE HAEENMY S/=F7 27 wolzoj2io]  [20184 038 13,000 1 13,000
246 [4EolE otx|M 2/4%8 18 =TET ST o018 05w 13,000 1 13,000
247 |22 A g HEA XS /A 27 xgstea 20174 119 11,000 1 11,000
248 [BiX] g X7 U EE HHe /s 18 =% 20184 048 12,000 1 12,000
249 [ere4Alg 7|27] Zx|Y 2/2es 1 Aoy 20184 062 13,000 1 13,000
250 |oizl ®E3t o|op7| e T 2017 112 12,000 1 12,000
251 [gate pator HE0] Abs CHES) At LE2H2| 2/4318 17 S 20184 038 12,000 1 12,000
252 [Lhot 9 ofmctn 27) Ho|# 2a/8359 o |opscke s [20174 108 13,000 1 13,000
253 |4 mSo| Yoje? EEEE SR TEOTS Tjonte 20181 052 11,000 1 11,000
254 |- =0| & 2 ATl ZcTH[0N &£ 2/0f=g 19, oD < 11,000
0| #0Q? e o LR 20184 062 11,000 1 ,
255 | o] 52 HEH 0|78 2/0/8y 18 grenjey 20184 078 12,500 1 12,500
256 |Lt5 e el BEA sy 2/0ja2 1g =getea 20174 128 11,000 1 11,000
257 |7tE - MEstE o Ho|ZE 2/87|8 28 AR 20184 039 13,500 1 13,500
258 [doiMo| staAt CH2 ¥ 1 gols 3 ool 20174 018 9,800 1 9,800
259 |d9iMo| shmAt 23 2 g0 2 oto| & 20171 028 10,500 1 10,500
260 |o{FIX Y (BHX| HEHEIHYE w3 223 BRI 20114 062 16,000 1 16,000
261 |Z&0i2| ofo| EECR mratajolzio] (20144 119 12,000 1 12,000
262 |Hz =o|L? 7 ECERS] EE] 2009 038 11,000 1 11,000
263 [Exo 222 oY 359 g+ Soln 20174 068 12,000 1 12,000
264 |10CHE QI8 oY E2 Nes 287 5Hs 2 ct2 201814 078 14,000 1 14,000
265 [100HE Qlst M4 ¢ R o2 20184 038 13,500 1 13,500
s A 265 3,249,900




